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entity F & is
port (&,B,Cin = in bit;

83,Co @ out bit );

end;
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entity targilb is
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port(A,B: in bit vector(2 downto 0):
F: out bit_vwvector(3 downto 0));

end;

architecture arc targild of targilh is

signal net:bit wvector(2 downto 0);

component F A is

port (A.B.Cim ! in bit;
S5:Ga 7 ok kit )

end component;

begin
net(0)<="0":

U0:F_A port map(A=>A(0),B=>E(0),Cin=>net(0), S==F(0),Co=>net(1)

U1:F_A port map(A==A(1),B=>B(1).Cin=>net(1),.

end;

)
S5=>F(1).Co=>net(2)):
U2:F A port map(A=>A(2),B=>B(2),Cin=>net(2), S==F(2),Co=>F(3) );
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library lsse;

use isea. std logic Iled.all;

entity TRERE is

Forc & By Bim in bitc-);
8 --E0 out bit );

end;
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port(SI,clk: in
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end;

architecture arc _targil7 of targil7 is

signal Q:bit vector(2 downto 0);

begin

process (clk)
begin

if eclk'event and elk="1" then
0<=5T & Q(2) & Q(1);

end iE;
end process;

Z<= not(Q(2))and Q(1) and Q(0);

end;

N |I'n

2011 711003 1" VHDL [pan [InNd



£ nhuw

- VHDL nowa namon, TARS mmonn oo
L. 1library icee:
2. wuse iese.std logic 1164.all;

3. entity TARB is

4, generic (m : integer :=4 );

5. port (d : in bit vector(m-1 dowrto 0} ;
6. 8 : in integer range 0 to m-1 ;
T ¥-'t out big)

o

end;

5. architecture behawve of TARA is
10. begin

11. v <= d{s):

1Z. end behave;
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